GENERAL MATHEMATICS
SSC-1

SECTION — A (Marks 15}

Time allowed: 20 Minutes
Section — A is compulsory. All parts of this
section are to be answered on this page and
handed over fo the Centre Superintendant.
Delsting/overwriting is not allowed.

Do not use fead pencil.
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Fill the relevant bubble against each question according to curricuium:
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l in ferms of percentage is: }
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The share of widaw(with children present) ini
inherited property is: i1
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Zakat is paid on possessing aii
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If C.P=050Rs. profit =10% then !
8.P= Rs. :
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If the annual value of a flat is Rs. 600.000‘::
Then the tax payable at the rate of 18% will:
be Rs.: Emoo
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Which of the following statement is FALSE? log,,10=1
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' log(2+3)=
i log(2x3)

log(2x3)=
i log2-+log3
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 For which value of k is the equation below! ; : | ;
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For the data 1,2,4,7,8,8,11,13 the mode |
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a, =a+(n-1)d
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